ﬂh Matching Thermometers to Temperature Name:

Deter mine which letter best answer s each question. Answers
1) Which thermometer best represents the temperature 50°?
1.
2) Which thermometer best represents the temperature 109°?
3) Which thermometer best represents the temperature 100°? 2,
4) Which thermometer best represents the temperature 99°?
3.
5) Which thermometer best represents the temperature 17°?
6) Which thermometer best represents the temperature 93°? 4.
7) Which thermometer best represents the temperature 62°?
5.
8) Which thermometer best represents the temperature 12°?
9) Which thermometer best represents the temperature 63°? 6.
10) Which thermometer best represents the temperature 57°?
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ﬂh Matching Thermometers to Temperature Name: Answer Key

Deter mine which letter best answer s each question. Answers

1) Which thermometer best represents the temperature 50°? G

1

2) Which thermometer best represents the temperature 109°?

3) Which thermometer best represents the temperature 100°? 2, B

4) Which thermometer best represents the temperature 99°? D

3

5) Which thermometer best represents the temperature 17°?

6) Which thermometer best represents the temperature 93°? 4. A

7) Which thermometer best represents the temperature 62°? J

5

8) Which thermometer best represents the temperature 12°?

9) Which thermometer best represents the temperature 63°? 6. |
10) Which thermometer best represents the temperature 57°? C
[ o !
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80° 100° 85° 15° =
75° 95° 80° 10°
F.o | 80— G. | e H. | 75 T | 115°__] J 40° ]
75 = 55° 70° = 110 = 35 =
70° = 50° 65° — 105°_— 30° =
65° — 45° 60° — 100°_= 250 =
60° 40° 55° 95° _— 20° =
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